
���������	
 �(����	
 /
N�������
 ��
 ����������&
 $%&
 %&
 ).
+*
 �)**+�
J
�������
 ����������
 ���������
 )**+&
 ,��'
 $%$-
$-.+

G�	�������
 �#����8��
�	������	���
 ���������

'�����)2��!
�$
!#�
!6�
$��2%
�$
%�&���
��C��!.
��
�����%&��&�

A����	
������
 !�����8��R

0���������
 ��
 !��(��	�	&
���	��#���
 ��
 ����������&
 !��(��	�	&
 �������	

��������	� A�� �$�� ��������������!�����
3��
�������C���=�$����3
�!����
���������$�
3��
�������C���=� ��
�$���$

��������
��������%�6$�=��$
<����$����
�������C���=�<������������
�������������31��������
��
�����
<����
�������������
�%�6$���������$�D!����
���
��=������<������
���������$�������
� �����������

3��
�������C���=��������
!������
���
3���
��������%�A���$����!�=�<����
�
�����$�������������
�������C���=
��������
��������3
� �+�%�%��<
����������3����
3�����������
���������!���
�.�<
!������������3�
 �����=��
�����
��
��������%�P��<���� ���
� ����������� �������
���� �$�������������� �$��� �������� ��
�
�����
��
3� �
����
��C���=�����������
��������%�6$������������ �����
��������
3���������=�� �����������������
����������

<$
 � ���!����
3��
�������C���=�����31�
����
!�������������31��������
���<������ ���������%�6<
�<���1
��
<����������
3��
�������C���=�<���� ���!���/�+�.�3����
3�����������
���������!���
������+��.��
����
�����
��������$�����
�%�0���=����� ��������
���������<��������������<
�=���������������$������������
���

 �����������������
���������������������=%�2��!����3�
 ��$��3����������$�����
��������� �������������
�$����������
���������������� ��<$����$���
��������3
� �
3��
�������C���=�����
�$���
�������� ��������
3� ��������������%��
����������
��������$�����
���$
<��������������
��=������
��������3� ����%�@�
�������
3� ��������
����� 
���3����
3�����������
���������!���
���$��� ����%�R
<�������������
3�
��E��
<����
���
�����
������
 ��������������
�
��������31���
��!����
���<����������3��������$��������������
3��
�����=
��C�
!���������
��������%


���
����/��
�������C���=�����3���������
����
 �����������
�������������
� ���


�+��*
���#
�-���
%�&�����
���%��+��%!�
�
�����%&��&�

A����	
������
 !�����8��
0������	
 �
 !��(��	��&
�������
 �	
 �����������&
 !��(��	�	

��������/�4�#���"�$�������$�����$��
������#���
�������������!����"�"
�����
!*����"� ��
������������
#�
����

����
�
*���� ����"����
"�����
��
���!� ��� ��
��������%�L�
�
����� �
����� "�� �
������� �����
#�
����� ��$
��#�
"��$�
��
�"�$��
��#����#���������� ��� 
#�#�����"� ���������
��
�����
���������"
%�;������
���
�����#���
��������
��
�
�������������"������
������#��*���
�������
������������
#�
������-�"
�����#��*��$

��
�"�$���
��������%������
�����"� 
�����������"��
������������
#�
�������� ���
�������
��
 �
����

+�%"%� #������"��
��� ��� ����$� ����� ��������� � �
������ ������
���"� .�� #��-!"�� �#� #�
��"�� �� �
#�

��
�������
%�'��� �����
������!������������
����
�����#��*���
�����������
���!"�"
��
�����
������
#�
��
���
#�����
��������%�4���#�������"���������3�#���
���
���
�������#��*�
������$� ���
�����
�%�A#�
��"�����
�
� ��#��*��������������� �
������� �����
#�
����� #�#�����"�� ��������
 �������
���� ����
#
��
���� ����%

R'	����
 /
 	������>
 ���1
 ��1
A����	
������
!�����8��&
0������	
 �
!��(��	��&
�������
 �	
 �����������&
 ����8��	
)&
 $***
 !��(��	�	&
 ��������	&
 �
#	��>
#����	1������?��1���
��1��



@< A1
������
!�����8��

��
!*������� 
�����#�����
�������
������������
#�
���/�+�.�#������"��
����������$��������������� ��
������ 
�����
���"� � ���� +��.� �
�����
� ����
��
��� ��� ��$�����"
%�F��� ��"��� ��!����� ���
�����
�� +#�
��"��
�����"����
��������.�����������
�
��
�������������������������"�%�2�#!������������������!�������������"���

�
��#�������� "���
#�����
���������
��
�"����
��
������������
#�
�����
����������$!��������������� 
�����
���"� �!��������
�����3����$��
�������������$%��
�����������
��
��������$�����"��"��!������������
�������$%�F���������-�"
���*�����$!��������������� ��
������ ������
���"� ��
��3���"�%�'���
�����

�����
#��� ���
���������
��
�"!��
#�����
���������"��#��*�������������� 

��������
��������
������
�
 �������
�������������������
#
��
������"���������������������������%


�������������/� �
������������
#�
���� �� 
#�#�����"����
 �������
���� ��#�
"� ���
�����
�

BBI�J�	

�
�������C���=������������
3�� 
��
��������������<
��������
!�����31����������
�����
��
��������$���
!����������
��� ��������
��������������
���$��������=�������$���!�"���

3� �������$�
����
��������%�7�����$������� �$���C���������!����� 1� �
 ��
3� �$� ����
����������
<�1��
�3�� ����$��$=�
�$������$����
�������C���=������
���������<����������
�
��! ��
!����
��� ������������=��
�� ��������
�����3!����
���������������������31
��������
��%

�
����� ��C���=�<��� 3
!��� �
���� ���
�������<��$� �
<�������� ��������������
����������������"���������������!��+A�������#����P�������K�&!�
<������

�8�R��T����
K���
�����

�.%�4���������@�<�������0<����K�&���=�+�

�.�3
!������������������
�1
�$������<�����
�������C���=�������������$ ����
3����� ��=������
 ����
��$��������<
�����������
��%�6$
�����
���������<$
�3�����$��$��
�������C���=�<���� 
��������=��

$�����
<�����������
��
3��
������������������
 ������������������
������!��
����$��

�$����+R��T�����K�R
��#���

J.%��0��������=�$��$�=��
�����=���C�
!����
�������������
���
������
<���3��D!���=�
3������3��������3��������
3�������
 �����������3������$��
������
���������������� ���������!��
������3������$�����$����$�����������C�
!�������1
 ����%�@�����
����=��������������31��������
���������
<������31�����������
3���
�������
�
������
 ��������+�!�������

�.������
<�����
�������31<
��$�+R��T�����K���
���
�

�8�R�<������K�&���������

�.��<�����
���������=� 
���3��D!��������
�����=� 
��
��C�
!����
����������$�������$�����������C�
!�������%�6$����!������$���<�����
��!����

����
�������
�����������������������3���������
�����
������<�����
�������C���=����
����������
��������
3����3�������
�����
�"��������� �������
��
3��$���
�����<
��������
���������
��������
3���
��������+�!�������

�8��!�����K�4�� �����			.%�6$��������
3
�=�3!����
�������31��
�������� ��$��������� �
������3���
���$�����3�!������
��E�����1
3
� ������ ���������=�<$���������
�� ��� �C�
���� �
� �$���!������%��
�����=� ��C�
!�
��!������ �=��3
���C� ������C�����������33��!�������������� ������3
� �����<$������
���$����3
���$� ��
��C������
����
���
���
�����3
��$����3�
 �����$������3�
���
3������1
 ����%�A�������!���
��
3����3
� ��������3�
���
3�����
!��
3������ �������
�����=���C1
�
!����!������ ��$����������� 
�������!������3���
���+�%�%�������
3����������������������1
����
��
3�3���!�����
�����<��$����
�������!���
�.����� 
���3��D!��������!������$
!�$��
+�%�%��(<$����
�
�$�����$����
3� =����3
� ����)�
��(
�$��������AE �����
!�).��$��



@=3M�
���#�
��
����	�
	�=����
��
	����������

�$����������
�����=���C�
!�� �����+�!�������		�.%
6$��D!����
���
��=��� ���<������
�������� �$�������
� ������ ������
3� �
����

��C���=� �����33����������
���
3� ��
��������%�@!�$
���<$
� 3
�!���� �$���� ��!�����
3
�
�������C���=�
����
��������� 
���=���������������$���<
� �"
���
 �
������
3��
����
��C���=/�3����
3��������������!���
��������
��������3���!��������
�������
����������
��������� ��� ����$���
!���� 3���!���
3� �
����� ��C���=%�F����
� ������=��&!��� +�
J	.
��
�
����3���3!���������31�
����
!���$=���������$���<
�3
� ��
3��$���E���
�������C�1
��=��$��������
����D!�������=%�0���=1����������3���3!���$=�������� ���
���� 
����� 1
���� ������=�������+2
�$�����K�H�!�
���

	.�������������
����
��$����
��1 ����
���
�
�������
�������������������%�2!����K�@����
��3�+�

�.��!���������$����$����=���
3
�
�����<��$���<���
����������3�
 �����
��$1��
��������
�3�����������������$�����
!�

3��$���������$���
!����=���$��������
��$��!�3� ������
���$=%�R����1�������������31�
�1
���
!���$=���������
�������
�&!���������
���<$������$�������������
��$������
!���$�
���3�����������������������=��
��������� �
3�
�$���%�A����� 
�������������
3�����
�����=�
����� ������=��C��������������$��������������
��
3����3���$���
3��� ���� ����+2
�$����
K�H�!�
���

	.%����31�
����
!���$=�����<��$�����������
���
����
�����������!��!�����
�$!����
����
�3����
3��������������!���
�%

@�
��������� ��� �������
� ��������
�� �������=� ���������� ���31�
����
!�1
�������
�������<��$��!��������31� ���������������
3���
������� ��$��������������
���1
������ �
���33�������������<���� �$���� 3
�!��
3� �$
!�$��� ���� �$
!�$��
��!����
���
3

�$��������������=�������+0��������
��.%�6$!�����
��������� ��$������� ��
3����������
�!����������=��
��
�������C���=�����������=���������
��������3
� ������3����
3���������
�
����� ����!���
�%��
 �� ��!����� 3
!�������=� ��
��������� ��� ������
��
3� �$�� 
��
�����3������ ��C�
!�� ���31���
��!����
�� +����B$����K�B������������ �
J�8�0������K
&
<�����
�
8��!�������

�.%�@��
�������
�0�����E����
�
����
���$������31�
����
!�1
���������������=��������
����������������
�������
�
�$��������
� �����$���������1
�����
3� ����� ��
���������� ����������������
3������E� ��3�!������ 3
�!�����
�� ���� ���
������
��$�����$������ 
����
������C�������������������
������
��
�����������<�<��$
 
������!������
�����!��������������<���
!�����3����$�������������
�������C���=�������
�
��������3
� ������������������
��!����
��<��$��
��������3�����3����
3�����������
����
����!���
������������3�
 �����=��
��������
��������%

A���$��3�����<����
3��$������������!�=�<��3
!�������
����
3��$����
��1 ��1
��
����$=�
�$�����+�!�����K�4�� �����			.%�>����
3�����������
���������!���
��<��
 
����������������1�������1�=���1
�����$����	1=���1
���%�6$���������� �����<������

3
!��/���
��������3� ��������
����� 
���3����
3�����������
���������!���
���$��� ����%
P$����
 ��������$���$����������
!��������$���������3���
���3� ��������� ��������
�
����33�������$�����C���������
3������
��������$�����
������
������
�����%�N
<�������
�����3���������������
�����<������������������������������$���
��������=�
3���33�����
�����
� �������������
3��
����������
��������$�����
��3
�� ���������3� ����%

6
�3����������
�����!��
���3
���$�������������������������33������������
����
��C���=��<������������� �$����!�=�<��$� �$�� �<
�=
!�������
!��� �<
�=����� �����%�P�
�C���������������������3����
3�����������
���������!���
�����������=�����$����������
�



A? A1
������
!�����8��

�
��������
��������%�7
�$=�
�$�����<��� ����3
���$������������
3�3����
3���������
�
���������!���
������$����������
���
� ��������
�������������!���
��=�<�����!��
��
<���3
!���3
�����������������������
!����!�����+H������K�2
����!�#�6
 \���


�1��
�
�1�����3���������������3�
 ������	��
���8��!�������

��1����
�1�����3��������������
3�
 ���������
���.%��
��������������������$�����
��<���������������
��$
<� 
���������1
��=����
�����
����������$����$���
��������3
� �
3��
�������C���=%�T��������33�������
<�����C�������
��=����������
���
�3����
3�����������
���������!���
�%

6$�����
����� �
3��$����!�=�<����
������ �����
 ������
�����$�������������

3���
���������<$
��
����!���
���
���$��$�
���
�������C���=����������������
��������%
A���$�����������
����
��������������C��������
�3�����$� �������3�
 ���
�����������31
���
��!����
���=������
������� 
����
��
�����������<�+0������K�&
<�����
�
.%�&=
��������$������3�� �������������������=��$�=��$
!������������
���������������
��3�
 ����3
�
�
�$���������
���D!����=���$�=��$
!��������������!�������
������
����$� ����������
������!�"�������
����� ����������������
�������%�H
��
������������3
����
!���33������
�
�����
�3
� ��=��
������������<�=�
3��
����3=������������
3��������=�������������������
3
��
���������������=��� ����$�������
�%��R������
����������������
����������
!����
��
 !�$��
<�����������$����$����=
!������
!����������+R��=1P��������


.%�F�������
3
�$���������
� �������C�������
����
 ���������
��������������� ���������������3
� ��
���31� ����
3����$=������������������
��<��$���
��������$���
!������
�����=�����!�����
���!���
��%�6$��D!����
��
3��������������$!��$
<�$��$�=��
�����=���C�
!���������
���1
����������������$� �����������$
<� !�$����31�<���������$�=�����
 �����
���
�
�$��
���� �����<$
��C����������������C�
!��3�������%�6$��3�����$=�
�$���������$����
 ���
<����$����������
���������<$
��C������������
���3����
3�����������
���������!���
�
<
!���$�����$��$��$�����!��������������������31�
����
!�����������$�� 
�����������
��������
���
3� ���31�
 ���������
 ������ �
� �$���� ���� �����<��$� ���! �
�� �
<
���!����
���$����������
3��
�������C���=%�6$�����
���$=�
�$�����<����$����������
���1
������<$
��C���������$��$������
��������$�����
������
������
�������<
!������
����$�
 
���������������31��������
����!���� ������!��������������������31�
����
!��������
�$����
!���<��$�3�<�����
��� ������
������
������%�6$����$=�
�$�����<������
!����
��� �$�� ���!����
3� �$�������
!����!�=�
�� �$����
!��
3��	1=���1
�����!������ +�!�����
�

�.%�6$�����!�����$
<����$����$���<
�3
� ��
3��
�������C���=�<�����
�$� 
�������=
�
�$��$�=��
�������=����������
���������
���
3����31���
 ����������!��
��=�3����
3�����1
������
���������!���
��<��������3������=��
�������=����������
�$��$����������������!����
���31�
����
!�����%

7�!#��

��2)��

6$���� �����
��������
3�������
�������������$��3�����������������
3�������
�����������
�$�����
����������%�@���$��3�������������+6� ���.���$���$������
!���
3���
���������<���
����!���/���1=����
����+T������������� ��=���$

���A

	��
I���%��=����.����1=����
���



A>3M�
���#�
��
����	�
	�=����
��
	����������

+T�������������  �����$

��
AI���%��=����.������	1=����
����+Y����������$��!�����1
���=��AI��	%��=����.%�G��=��<
�=
!�������
!���<��������������<
�=�����������+6� �
�.������$������
3����+T�����J������� ��=���$

�.����������J�+T�������������  ��
��$

�.%�6$���! ����
3��������������������$�������
!�������$���! ����
3� �������
3� ��������������������6� ��������6� ���������$
<�����6������%�6$����
���������<���
��!������
3���33��������� ��=��������  �����$

�������!��������=���!���������R"!��"���%
6$�=��� ��3�
 �3� ������<��$���33��������!����
����������
!���%�A������������
�1
!��
�

������������
�$���
!��/���S������%�S���
�1
!������$����
!��
3� ���������3� ����
��������������������=��������S������	S���
�1
!������$����
!��
3� ���������3� ����
������J�������������=%�>� ���������$��=���������������$��������
!��
3����=�����+��S.%
6$������������
����
3��$���<
�3
� ��
3��
�������C���=�+6� ���.��$
<����
������3�����
��33�����������<�����$����
���������
3��$���<
�=
!�������
!���<$
�<������������
�����$
����
����������%

7��%���%

����	�
 	�=����

�
�����@�C���=�������3
��@�
���������+�!�������

�.�������J1��� ����������<������

�����1�
���������%�6$����� ������������
��������+<
��=.���33�������+3����������
�.����
��$���
!����+��$�����
�����
������.���������
3���
�������E���
�������C���=���C���������
�����33�������
��������!���
���+�
�������<��$���������C�
�!��������$

������3
� �������
3�
���
3�����!�������������������%.%�A����!�����������/

1  �����������
 	��
7�	�
 ��
'��	����
 2�	��	����
 � 7'2�I
6$�� ��� ��� �
�
�����$���
 ����
3���
�������E��3������<
��������������������
���
3��
������
�������������!���
����=������������!�������<$������3
� �����!�����=%�6$��
�!���������������������
�������1� 
��
�����������
3��
�������C���=%�A�����������
�
��������=�<����
�3�� �������
�$�������
!�������$���<
��� ���
3������� ���/
�� ���/�α�I�%J��+������.�����α�I�%J
�+������.8��� ���/�α�I�%J
�+������.����

3	(��
$>
�	#���
(�
	��
	��
������
	�
3�#�
$
	��
3�#�
)1

 Time 1  

 age 12 age 16 age 20 all 
males 55 52 54 161 
females 63 47 54 164 
all 118 99 108 325 

 Time 2  

 age 14 age 18 all  

males 38 39 77  
females 61 33 94  
all 99 72 171  

 



A@ A1
������
!�����8��

α�I�%
��+�����J.%�@>70�$����$
<���
�$�����

���
��!�������������=%�A���
���1
�������
�������=�<��$��$���
�����@�C���=��!�������
3�>����������E�������%�+�
��.
���31B
����
!������������ +�B�./��

�
�I� %������� %�
� 3
����1�������1=���1
����

�����������=%��!�����������
�������
���<�������
�3
!���<��$��!��������31B
�1
���
!������ �!�������
3��B�/� �

�
� I� %��� ���� %��� ����<��$� ���31��������
���
3

��
����+�
�
�I�%�������%�	.������
�����+�

�
�I�%�������%�
.����
 ��������3
����1����

��1=���1
����������������=�+�!�������

�.%
1 3������
 	��
 ,���(�����
 ��
 ����	�
5���	��
 �3,�5�I
6$�� ��� ��� �� ��������

�
����������
�Q����C���
��������$�
����$���
!����$�����
�����������������
��C�
1
�!���������������
���<��$���
<������!���
<���������
��
����1��C����������
����� �������
���������������������!���
�%�A�����������������$���
!���1� 
��
���
�������
3� �
����� ��C���=%�6$�� ��������� �
��������=�
3� �$��� �!�������<������

�
�3�� �������
�$�������
!�������$���<
��� ���
3������� ���/��� ���/�α�I�%��
+������.�����α�I�%J��+������.8��� ���/�α�I�%J��+������.�����α�I�%J	�+�����J.%
6A�B��
����������
�������=�<��$��$���
�����@�C���=��!�������
3�>����������E����
��%�+�
��.����31B
����
!������������+�B�./��

�
�I�%�������%���3
����1�������1

=���1
����������������=%��!�����������
�������
���<�������
�3
!���<��$����31���1
�����
��
3��
��������
 �������/��

�

I�%�������%�J�3
���$���<
�������
!������1

���������=�+�!�������

�.%

����
�������������
 	��
 ����
����#�������

�!����� ���������������31B
����
!������ �!��������
3��B�� +>��������������$�����K
&!�����
��.������������A��
 ��������������+&�#��
��]���
JJ.����������������
����
B
 ��������������+�!�������

�.�<����!�����
������ �����$�����
�����
���
3����31
�
����
!��������������
���� ���
 ��������<��$�$��$� �
����� ��C���=� ��� �������
���1
�����%

1 ��(���
����
5������������/������� ��� �� ���!����<��������
3� �$�� ���3�����
�
�����
�"�����$�������������������
��
3�
�$������
�������<��$��$=������������1
�������!��������31����������
������
�$���E�����������%�α�I�%�
�+6� ���.��α�I�%�

+6� ���.%

1 ����	��
 ����
5������������/� 6��� ��� �� ���!��� �<�������� 
3� 
��E�� 
<�
������<
�������3�����
����
!��������3����������$
!�$���� 
�����������$��������
 

�%�α�I�%�
�+6� ���.��α�I�%�
�+6� ���.%

1 ���������
,���#�������/�6������ �� ���!�����������
��
3����31+��.�
 �������
+�%�%���
!��������!�����3!��<
����3��������
3������!���=����������D!��=.%�α�I�%J�
+6� ���.��α�I�%J��+6� ���.%

1 ���������
����	�
,���#�������/�6$����������
������� �����������������1�
���
�� ��������33��������� ���!�����������
��
3����31���
 ������������
����������1
����
��+������
���������C�����
  !���������������������������
!��������������
�=�
�$��������������������3
���$� .%�α�I�%JJ�+6� ���.��α�I�%J��+6� ���.%



AA3M�
���#�
��
����	�
	�=����
��
	����������


�%��!%

��&���
��C��!.1
6�!#��"%�-*�&!
&#����%
���
-�!6���"����)
��$$����&�%

������1�� ������1�����<������������
�������$��$=�
�$�������
!�������
� �������$����Q
��������=�����$���<
�3
� ��
3��
�������C���=������
��������%

>��!���������>��!������$
<�<��$��1��
!���$����������$���<
�3
� ��
3��
����
��C���=%�A���$���<
1=��������������
�$�3����
3�����������
���������!���
��+@>70.����
�
����������
��������$�����
��+6A�B.������3������=�����������<��$����$����
!��
3�
����
��
���������+��������
������J.��@>70/��+��.�I��%������^�%	���6A�B/��+�J.�I��%������^

�
������

�����	

�
���

������	

�
�



����
�	

�����

����
�	

35

36

37

38

39

40

41

42

43

44

age 12 age 14 age 16 age 18

M
ea

n

�

�����

�����	

���



�����	

�����

������	

�����

�
��
	

30

31

32

33

34

35

36

age 12 age 14 age 16 age 18

M
ea

n

7�����
$>
A�	��
�����
��
 7'2
��
 ���
�M�
	��
������
	�
3�#�
$
�	��
$)
	��
	��
$:�
	��
3�#�
)
�	��
$+
	��
	��
$-�1

7�����
)>
A�	��
 �����
��
3,�5
��
 ���
 �M�
	��
������
	�
3�#�
$
 �	��
$)
	��
	��
$:�
	��
3�#�
)
�	��
$+
	��
	��
$-�1



A5 A1
������
!�����8��

%		���!���
��<��$����$����
!��
3�=
!�������
���������+��������
�������.��@>70/��+�
.
I��%�	����I�%����6A�B/��+�J.�I��%������I�%��%�@���+@��.�C���+T�����.�@7G4@�<��
!�����
������ �����
������������������������33�������������$�������������
������$���<

3
� ��
3� �
����� ��C���=����6� ���%�>
!������=����
������
��������� ������� �
�$���
$��$���3����
3�����������
���������!���
��+@>70.��$����J1=����
������
����������7�+��
���.�I��%������I�%	�����
��������3� �����$���$��$�����
�����$��� ������7�+������.�I
�%������̂ �%	����!���
����������
�����<�������������������<���3
!����7+������.�I��%���
��I�%��%�G���$��
�$���$���������$��������
����������33����<���3
!���3
��6A�B��7+��
���.�I�%�
�+���.��7+������.�I�%J��+������.��7+������.�I�%JJ�+���������
�.%�6$��
��=
�����3���������������33��������������������$����
!��
3��J1=����
���%�>� ������
���1
������
3� �����J� ���
����� 
��� 3����
3���������� �
����� ����!���
�� �$��� �$���� ���
�
!������������+�
���
.�I��%J
����^�%		�%

6$�� ������
�����$
<��$����$����������������
3�3����
3�����������
���������!1
���
��<����
 �<$�����33������3
����
�������� ���������3� �����+����>��!����.%�0�1
�������=��$������������� ��������
����������$
<���$��� ������
�����������
����=��

�
���C����������������3�������$���������$����3����
3��������������!���
������$������
����
�%�G���$��
�$���$�����3� ������
��������� ��$��$���$�����$�����
�������C���=���
�����
��������3
� ���
!����$������
3���%�@����������<���3
!���<��$����
�$��������
���<��������������������J�� ����/��+��.�I��%������^�%	���3� ����/��+��.�I��%
J����I
%	�%� A���
�������������������������
3� ���!���� ��� 3����
3��������������!���
����������
���<������������������<��$����
�$���������� ����/��+�	.�I�%������I�%
	��3� ����/

7�����
%>
A�	��
��F��
��
 7'2
��
���
�M�
	��
������
������
	�
3�#�
$
�	��
$)
	��
	��
$:�
	��
3�#�
)
�	��
$+
	��
	��
$-�&
	���������
#	���
	��
��#	���
���	�	����1

�

���
�

���

	

�����

��
��
	

���
�

����

	

����


����
�	

�����

��
��
	

����


������	

�����

������	

�����

�����	

33

34

35
36

37

38

39
40

41

42

43
44

45

46

age 12 age 14 age 16 age 18

M
ea

n

males females



A83M�
���#�
��
����	�
	�=����
��
	����������

�+��.�I��%������I�%��%
H������
���� ���>��!������$
<� �$��� �$���������� ������ 3
�� �
����� �����
�����

��$�����
����33��������<������
�������� ���������3� ����%�>
����
�������� �������$�

��=�!�<�����������
���������������$������
3���%�>
����
��������3� �������$�� ���
��
���������������������
3����������3�
 ���������
������J%�@��3������<��$��1�!�"����
�
 �����
��������
����������������3��������������<���
��������3
���
�$����������
!��
3�
 ���������
������J�� ����/��+��.�I��%������^�%	���3� ����/��+��.�I��%������^�%	�����
 ��������=������3��������������3
��3� �����3�
 ���������
����������+�
.�I��%J�����I�%	�%

���$"��&�2)�!��&�
���
%��$"&��%&���%��%%
 ��
%�&����.
��C���%
 ��!�

�����%&��!%

R������
���������<���������������
��$������
!���
���$��������
3��$������
����
��@>70
����6A�B%�6$���$������
!���+�
<�� ���! �����$��$.�<�����$����
 ���������
�����
�
��$�������31���
��������31�
����
!�������������31���
 �������%

6������� �$
<����33�������� ��� �$����������
��
3� ���31���
 ������������ ���31
�
����
!����������������
���������<��$��
<�� ���! �����$��$���
����
���$���<
�3
� �

3��
�������C���=%�R������
���������<��$�$��$�3����
3�����������
���������!���
����1
�
������$��������3��
!���������31�����������
3��
 �������������$��$��$���������������
�!��������31�
����
!�������
 �������
��������
���������<��$� 
������������
<�3���

3�����������
���������!���
�%�R������
���������<$
����
�����$��$������
��������$���1

�

����


�����	

�����

�
�
�	

�����

���

	

�����

����
	

�����

�����	

����


������	

�����

������	

�����

�����	

30

31

32

33

34

35

36

37

age 12 age 14 age 16 age 18

M
ea

n

males females

7�����
+>
A�	��
��F��
��
3,�5
��
���
�M�
	��
������
������
	�
3�#�
$
�	��
$)
	��
	��
$:�
	��
3�#�
)
�	��
$+
	��
	��
$-�&
	���������
#	���
	��
��#	���
���	�	����1



A9 A1
������
!�����8��

��
������
������
������������������$�����������������
������
 �������� 
������������=
�$����$�����
!����������<��$��������������
<��
����������
��������$�����
����!���
��
�
��33���������31�
����
!������3�
 ��$��
�$����<
���
!��%

'�%&�%%���

6$���� ��
3��$������������!�=�<�����<
3
��/�+�.��
�3�����!��
���3
���$��$=�
�$����
��
!�������
� �������$����Q��������=�����$���<
�3
� ��
3��
�������C���=������
���1
�����������+�.��
������ �����
 ������
�����$��������������
3���
���������<$
���
��
$��$�
���
�������C���=�����������
��������%

6$�����!�����$
<����
 ���!��
���3
����
�
���������
� ������������
3��$���<

3
� ��
3��
�������C���=%�@����$����
������3����
3�����������
���������!���
�������1
���=�����������
���� 
��������������������=��$����������
��������%�A���
�$���
�������
 ���������3� ������ �������������3�
 � �������
��������
����������!�� �$����<����

�$���������
�������C���=�����$����
!��
3�����=���
�������������$������������
���
� �����
��
��������%�6$�����!����3�
 ��$��3����������$�����
��������� ����� ��=��$���
���!1
��
���$�����
������������������
�����C������������ ��������
��!����
�������3�����
3


3	(��
)1
5�#�	�����
��
 �	��
	����������
M���
 ��M&
#����#
	��
����
 ������
��
 7'2
	��
3,�5
 �)*
��	�
����
 �3�#�
$�
	��
$-
��	�
����
 �3�#�
)�
 ���������1

'���1
@>70�I�@����$����
�� ���� >���� 
3�7�������� 0���!���
��� 6A�B� I� 6����
�� ���� A�$�����
�� ��� �
����
B
������� �A� I����31A��
 ��������� �B�I����31B
����
!�����%
R
<Q$��$� ��
!�/� $��3� �� ��������� �������
�� ���
<Q��
��� �$�� ���� 
��@>70�
��6A�B%
6$����
!���
3� �J1� �����	1=���1
���� ���� �
�� ��33��� ��� �$���� ��
���� 
��@>70�
��6A�B�����<���� �$!���

���� �

�������� �$�� �� ���%
6$�� �
�������
�� ���<���� �
<Q ���! Q$��$� ��
!�� � ����$��� 
��@>70�����6A�B�<��� �
<� +�� I� %�J.%
RRR���^� %		�%

� � 6�;<� � �

� =���� ��+��(�� >����� �

�2�?��4� ��
��
���� ��
��
���� �
��
���� ��

@�������2� %"
%�	�"#
�A�%�� �
"���	#"���A�##� ��"�
�	#"���A��#� ��"�#:::�
��������2� ��"%)�	��"
)�A�%
� �)"�
�	�
"�)�A�##� �#"�
�	��"
%�A���� �#"
#:::�
7��,�����4� �
"$$�	$"�#�A��)� ��"#)�	#"���A�#%� �)"#%�	#"##�A���� �%"%�:::�
7�������4� ��"#$�	�")$�A��)� ��"$$�	�")��A�#%� ��")#�	�"#��A���� �#"��:::�
� � � � �
� � .2�4� � �

� =���� ��+��(�� >����� �

�2�?��4� ��
��
���� ��
��
���� �
��
���� ��

@�������2� #"
$�	�"���A��%� �")
�	#"
)�A�$�� ��")#�	$"�$�A�%�� ��"%#:::�
��������2� �$"���	$"�)�A���� �)"���	�"�%�A�$�� �)"$#�	��"�
�A�%
� %%")�:::�
7��,�����4� ��"$��	)"�)�A���� ��"#��	$"�)�A�$�� ��")��	$"))�A���� ���������"���
7�������4� �%"
%�	%")��&���� �%"���	%"�$�A�$�� �#"���	%"�$�A���� ���������"���

�



AB3M�
���#�
��
����	�
	�=����
��
	����������

����������
���������!���
��3�
 ������������!�������<$������3
� �����!�����=%�7
�
���������$����������
���������������� ��
3��������������
��������3
� �
3��
�������C���=%
6$�����!���������������������������$��3�� ��
3�0�����E��������� ��E���
��
�
�������
������������
3� ��
�������������
� ���%�R���� ���31���
��!����
������ ����� ������1
 ����<��$����������� ������=��!��������������=�
3��
������������������������������ 
��
�
��
�����������<������
�������3���
����$����������������
������<
����������3�������
!�
����������
���������!���
�������������
��������%

@��$
!�$��$�����!��������$��3����������� ���������������$����
����������
�����
��$�����
���
!������ 
�������������
�����
����������$���3����
3�����������
���������!1
���
��+�!�����K�4�� �����			.���$���������������!�=������
��3!��=��
�3�� ��$������! �1
��
�%�0��������=��������$
<������������������C������������
����������
��������$�����
�
3�
 �����=��
��������
�������������<��$����$���<
1=�����������������
�$�������
!��%
�$=����������
�������$�����
�� �=�������������$��
 ����<��$��� ���� ������
������
+�%�%��O����� ��%���� �

�.%�N
<������ �$�=� �=� ���
� ������� ������������#�� ���
��
���!���
����3�!�3��
!�������
��������
!�����������C�����������
���$�=� ��$����������!��

3��C�������
���
3�����������
���������!���
���+2!����K�@����
��3���

�.%�@��
��1
����=���
�������������������
��
3�������������
����������
��������$�����
�������
�������
3� �����<
!������ �$��������� ��� �$���� ����=���
��������=�����$���� 
��� ���31�
!���
��
!���
�����3!����
��������������$!�� 
�����$��������������������������
��������!���
��
�����������������<��$�!���
<��������� �������
��������������������C��������������!�����
������

 �����!���
������%���$�������$������������
��������=����%

@��<���$=�
�$���#�������������33��������<����3
!���
��=����������
���
�3����
3
����������
���������!���
�%�6$�����!�����
�3�� ����$��3��������
3��$�������
!����!�=

����
�������
��������� �$��� ��
�������� 3� ����� �$
<�$��$��� �
����� ��C���=� ��� ���
�
��������3
� ����<
��������
!������������
���������!���
���$�����
�������� �������!�
�
��
����33�������
����������
��������$�����
��3�
 ��$���� �������� �����+�!�������

�8
�!�����K�4�� �����			.%�6$�����!���������
���������<��$��$�������
!��3����������
!�
���������33�������� ��� �C����������� 3����
3��������������!���
�� ��� ��
��������� +R�
T�����K�R
��#���

J8�R��T�����K���
�����

�8�H������K�2
����!�#16
 \���


.%
>� ��������C1�
������
���
!��=� 
���
���������
<����� ���
�����
��E��
<���!����
����������%�@�
��������������<�������
�3
!����
���� 
������31
��!������$����
=�8
�$�=����������� �$� ������� ������$=������=� ����������� ���� �C�������� 
���<
�����
��
!���$�����!�����������������$����
=��+O�  ���K�P��������

�8�H!!�����
JJ.%
7�����$��������$�����!�����$
<����$����������
�������� ������C������������ ������
1
����������
��������$�����
������$����=
!������
!���������%�6$�����!�����$!��� ��=��$�
�
���!��
���$�����
�������� �����
3���33���������� ��$���C����������� �������������=

3�3�����������������
����������
�������������=�<$���3�������
����������
������������1
��
��<$��������������!��E����$���
!������
��������������������������
������
�����
3

�$����
��������
�����������%�A��3!�!�����!��������<
!����$!������������������
��
 ����
�
������������
3���
�������� ���������3� �����������������
��<��$��������������<������
3����
!���3���
�������� ������C����������$���� ��
����33��������33��!�����������������$1
������
���������
��$��������$����3� �����
!���������%



A< A1
������
!�����8��

�
�����=���C�
!���������
�������������$����$
<���� 
����
��������
�� 
�����1
$���
!����3���!����
3��
�������C���=�������������$� ���������� 
������
 �������+���1
�����=�������������=�����
��������������
��.��$����
<�
�� 
��������
�����=���C�
!�����
 ����%�R������
���������<��$����
���3����
3�����������
���������!���
��<����3
!����

��� ���������
��!�����<��$� �$���� ������<
�������� �$���� � ����
3� �$�� ���3� ����� �
����

�"���%��
�������C���=���������
��������3
� � �=��$!���
����!�������!��$

������������!1
����<��$���
�
��������31���
��!����
��������
���������
!��
�$���E�����!���
�%�R
<��
����������
3�
��E��
<����
���������
������
 ���������
!��������
�$�������� �����
3���!���
3��
�������C���=�����������
���������������!��$

�%�N
<�������$�����31���
��
���!���
3��$�����!�=��
����
����
�����������<����
��$��D!����
��<$��$���������������31
��������
�������������
�������<��$����!�����$���
!��
3��
�����=���C�
!���������!���%
@�����
������!�����!�����
��������
���� ��$
���
����D!��������������������������1
���=��
����<����$���D!����
�%��
 �������
!����!������� ��=��$
<����$������$
!�$
��
���������<$
�����������������������
���������!���
��������������$� ��������������
�
�����=��
 ���������$��
�$�����3
� �����+�%�%��� �
����������.������
���
�3�� ��$���
�����������������
��
3��
������������+M
����K�&��������
J�8��!�����K�4�� �����			.%
G���$��
�$���$�����
�$�����������
3��
�����=���$���������
����������
�3�� ����$����1
�! ���
���$����$������
�������������������
�����=����������$���
�$������� �����+�!����
K�4�� �����			.%�A���
!���������������������<
!�������$!��� �
�������
���33���������
���<������
���������<��$�����
!�� 3
� ��
3� �
����� ��C���=%�P
���<��$���
��������
<$
����������������������
������ ������
����������<�����D!������<��$��
�����������
�$
!����������������
<�������
!���� ����
3����31������������$���
!������
��������!�1
��
��%�A��������
�����
�������E���=�3!����
�������31��
���������$
!������������3�������
 
��3���%�G���$��
�$���$�������
���������<$
������
�����=��������������$�����������
��
3����
����$������������
������$�����
���������������<���%

6$���� �����
��
3��$������������!�=������������=��$��� ������ ������#��
3���
���1
������<$
�<������������%�H
��
����� �$���� �����
��������
��=�
3���
���������<$

<������!������
3���33��������$

�������3��!���������R"!��"���%�6$�����!���������$!���
�
�����������#����
�����������
�!����
�%�A���$��3!�!�����������$��������$���������$
!��
�������� ��=����!����$���<
!����$������$��
�������
� ������ ���3������
���
3��
����
��C���=��$�
!�$��$�����������3������������$
<��
���������3�!��������
���
3��
�������C���=
�����������$�������� �����������
��E����
���������
��$���������������������
�����3���
����!�������
��������!���
��%


�$����&�%

&�#��
��]���%�+�

	.%��
� ��"������������
 �������
�������
��"����������
#�
���W���31������1
��
��
3��
 �������������
�������C���=X%�����������	
/
���������&
%)���
1J�%

&!����@%N%�+�
J	.%�����
�������������
	��
����	�
	�=����%�����>�������
��B@/�>��� ��%
B$�����M%H%�K�B������������@%H%�+�
J�.%�@�
���������$=����%�A��P%N%�M
�����M%H%�B$����K

�%2%�&������+0��%.���������>
������������
��
����	���
	��
���	�#����+��%��	�1���.%
7�<�Y
��/�����! %



A=3M�
���#�
��
����	�
	�=����
��
	����������

0�������F%�+�
��.%�0�
������� ������
��������%�5����
�������#���&
%-���	��1�	��%
0�������F%�K�&
<����2%�+�
�
.%�A ������=��!���������$���
������$�������������
��������%

�������#���	�
����������&
$;���J1��%
>������������@%����$������H%>%�K�&!����@%N%�+�
��.%��!��������������������31�
����
!�����/

@����� ���������$�
�=%������	�
��
5���������
	��
5�����	�
����������&
+%&����1
���%

A�������#����N%H%��P��������O%�%�K�&!�
<�����@%R%�+�

�.%�6$���
���
3��
�������C���=���
��
�������������������
��/�F�33��������� 
����
��
 ����������!����
!���������"�����
�!���
!��%������	�
��
5�����	�
5����
����������&
):����J1��J%

M
�����P%N%�K�&��������%2%�+�
J�.%�6$�����31
�$�������������=�����
������$=����%�A��2%
��$<��#���+0�%.��3��
����
��
	�=����&
������
	��
�����������+��%�
�1�	�.%�7
��$1
N
�����/�0�������%

O������M%������ ����7%�K�@��!���F%�+�

�.%�G���$���� ���� �����������
�����
3���$����������
!���$��������$������%�A��O%N%�2!����K�M%&%�@����
��3�+0��%.������	�
M�����	M	�&
����(�����&
	��
�������
��
����������+��%��
1�J.%�N����������7M/�R�<������0����! 
@��
������%

O�  ����F%B%�K�P�������A%&%�+�

�.%� ����������>
 
�������#���	�
��	�������%�6
�
��
/
P���=%

R��T������@%H%�K���
����P%R%�+�

�.%��
�����@�C���=�������3
��B$�������1�2������/�>���
�
���!��!��������
��!�������������=%������	�
��
5�����	�
5����
����������&
))����1��%

R��T������@%H%�K�R
��#��7%�+�

J.%��
�������C���=�� 
�����
��������/�R��������<��$�����
������
�������3������$���%������	�
��
 (���#	�
����������&
):��J�1
�%

R�<�������&%�K�&���������%�+�

�.%��$=�����������!����
�/�6$��������
��$������<���
�$=�������
�������������������
�����=����������������
��������%�4������
�����	�
��
2���	����	�
����������&
:)�����1���%

R��=1P�������H%N%�+�


.%�A�� ��=
!�����������
�<�����/�@��!������������������
����
���1
�������������
�1�������!���
���$�
�=%�A��@%N%�0� ���+0�%.�� ���������
������	���1
�������#���	�
	��
������	�
�������1
"��1
)+
+��%��1��.%�N����������7M/�@���=���������%

H�����%��%�K�2
����!�#16
 \��T%�+�


.%��
�������C���=�<��$����������
1��
���1=���1
���%
F����
� ��������
���������������
���<��$����31�
����
!������������������������
����������%�2�����	�
�����	�
��
����������
��
2���	����&
$+���J�1�	�%

H!!����2%0%�+�
JJ.%�3�������
��
	����������%�7�<�Y
��/�H�T��<�N���%
�!������H%�+�

�.%���������������
	������
��
����	�
	�=����
	��
���
�������#���	�
�����
��

	����������1�L��!����$��� �����E���$����%�R"!��"���/�L��������=�
3�R"!��"����
>��!��=�
3�@�����F����� ����
3���=�$
�
�=%

�!������H%�+�		�.%��
�������C���=������
�������������3������������!�����E��!��������3
� ����%
A��2%�2
�$������%�7����+0��%.�� 
#	����
��
����>
�����������	�
������&
����	���
	��
��	������+��%���J1���.%�R�������$/������%

�!������H%�K�4�� ����T%�+�			.%��
�������C���=������
�������
��������/���=�$
 ��������
���1
�����
3�����<� ���!����������33������������������
���<��$����31�
����
!���������
�������������
 �������%�2�����	�
B����M
��
 ������
����������&
;*
�)�&���
1��J%

2
�$������H%O%�K�H�!�
��M%@%�+�

	.%�6� ���� �������$���
������$�����
�������$=�������
�$���$

�%�A��N%�R����������+0�%.��N	��(���
��
����	�
	��
��	��	����
	�=�����+��%
�
�1���.%�7�<�Y
��/�����! %

2!�����O%N%�K�@����
��3��M%&�+�

�.%��
�����<��$���<������$�����
��������$=���������$���1
$

�/�B
������
����������3�����
�������!��%�A��O%N%�2!����K�M%&%�@����
��3�+0��%.�



5?

��������/B�������>
 $)1*$1)**+
��������/ �������>
 )+1*)1)**+

A1
������
!�����8��

����	�
M�����	M	�&
����(�����&
	��
�������
��
����������+��%��
1�J.%�N����������7M/
R�<������0����! �@��
������%

4���������0%H%�K�@�<�������F%@%��0<�����O%O%�K�&���=���%N%�+�

�.%��
�������C���=���������
������
��$�����������=���
��������/�@���
�������������=���1������	�
��
5�����	�
5����
����������&
)$���J
1�
�%


